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0. Fourier 0000000 Jean Baptiste Joseph Fourier (1768 - 1830) 000 O, OO
O000,000000000, NapoleonOOODOOOOODO. 1822000000000
0 0 O Theodrie analytique de la chalewrD 0000, 000000000000 OOOO
0000o0oooOOoO00000ooooobObOo0o00oo0oooooO. 0O0d Fourier O
O000. Fourier 00000000, 000,0000000. FourierOOOOGOODO
goooooooooooooon.

0000000000000 00 FourierOOODODOOOOO0O FourierDOOOOO
00,4000000000000000 Fourier0OOODOO FourierOOOOOODO
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2.2 Fourter 00O
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f#)000.0000, f(x) 0 2LO000000. 0000 f(z) O

f(z) = a_20 + nz::l (an cos ? + by, sin n_zx) (2.1)
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/f sin@dx (n=1,2---) (2.2b)

goooog.
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Fourier 10 000000000000 O00N
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/_LLcosn—Zxdx—/_LLSln%ﬂdx—O (2.3)
Oo000m,neNDOODDO
L mmx nm L mrx | nmx
/_L COS —7— €08 —— dr = /_L sin 7 sin A dz = Léy, n, (2.4)
/LL cos m;rx sin ? dz = 0. (2.5)

000 6, O Kronecker 00000000,

5 _{0, (m#n000),

I, (m=n000), (2:6)

0000000000. 000000000000, 0000000 (222)000000
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m)p, 0000000, n#00 @ 0000000000((R1)0000 sin #7= 000
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- cos % by COS g ) 2.8
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0000000000 0000000000 cos®* 0000000DO0DOOO00ODO
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)

— Z <an cos? 2 4 b, cos n_zx sin ?) (2.9)
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- s
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000000
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4 3 5 7
o _1 n
:EZ( ) (2.11)
2n +1

O0D000000000000D0D0 LeibnizOOOOOODODO EulerO0O00DOO
0000000000000 D0O000DO0000O FourierdooOooonoOO
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O Fourter 000000 2000000000 f(x) O Fourter 0O0OOOOO 300
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8 12 32 52
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O Fourter 000000 2000000000 f(xr) O Fourter 00O OODO 300
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01000000
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(12 P + 32 +) (2.14)
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1 1,1 1, (2.15)
12 12 22 32 42 '

0,00 z=n 00000

w2 1 1 1 1
O0—=5+=5+5+5+ . 2.16
6 12*'22*'32*'42+ (2.16)
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000 f(z) 00000 e<z<c¢+2L 00000 (21)0000000000000
000000000000000(21) 0000 cos™ 000,00000 20000
cO0 ¢+20 0000000000 (2172) 00000cos ™22 00000 sin ™2 00

O00. BaselOO Euler0D0O0O0O0DODO.
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00000000oooooooo (217b)D00UOO
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00000000000 00O0o00DOoO00DOo00DbO00DoDOD FourierdO0O

0000D0000000000000(2.17a), (2.17b) 000000 f(z) 000 20 00

000000000000 (22a), (2.2b) 0000000000000000000(2.1),
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24000 21000 n<z<7n0OO0O0OO0O0O0O0D0O0037r<z<3r0000
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OO00O0oo0o00000 27 0000070000000 ODODODODOOO cOOO
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024 02100000000-3r<zx<3nr000000000

252 00 a 0000

(21)00000
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253 000OODDOOODOOO

+4 0000000 f(z) 0000000000000 (2.2a),(2.2b)00000 (2.1)
0z=2q0000

f(xa+0)+ f(xqa —0)
2

goobooood

0240 z=+7 00 f(z) 000000000000000(2.10) 0000000
HzatO+/(=a=0 ngpgpop 000000D00000000

2.6 Parseval 0 OO

00, an,b, 0000 f(z)O Fourter 0O O OO,

%/_L{f(x)}de: B, Z:: a2 4 12) (2.18)

00000.000 Parseval 0000000 D0. 0000 f(x) 0000000 Foureir
0000000000000 0000OoOooog.™

27 O0000000O00OOFourier00O0onooOn

000000 Fourier 00O (2.1) 00000DOO,

f(z) ~ % +; (an COS? + b, sin ?) (2.20)

gbogoboboobgoooboobboobobobolb ~b0ooboboboboobo

(2200 J00000000OO0ODOOODO f(») DODOOOOOODODOUOOUODOOOOO

gobobobooooouobobobooooouobboooooobbbooouoobbobobooboo

Fourer OO OO0OO0OOOODOOOOODOOOODOODOOO
gooboboooobobooo

*3 ap/2 0 f(:c)DIZIDIZIDIZI[IIZI[I,ﬁffL{f(x)—‘g—O}deD f(zx) 0ODDDODOOOOOODOO
0.0000 Parseval 000000000, 23°°° (a2 +52) 000. 000, Parseval 10000

L o

O00000. f(x) 0000 Fourler 000000000 DO,000000 ParcevalDOODODOO
oobooooooooog.
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goooooogao: 00000000000 000000 I={zx€Rla<z<b}
000000000 f(x) OODODDOODDOOOO0ODOODOOOOO
i) f(z)0 1000000 21,29, ,2, 0000000
i) 00000 zq, x9, -+ a2 00O

f(xi+0) = tlilfrlof(% +1), flwi—0) = lim f(z; +1) 0 (2.21)

gooo
iii) 7000000 a,b00

fla+0)= lim fla+t), f(b—0)= lm fb-1)0  (222)

0000
000 000 f(z)000 2L 000000000000000000000000
0 f(¢)000000000000000000 f(z) O Fourier 000

e f(x)00OOOOOf(z)000OO
. ﬂ@DDDDDDDD%{ﬂm+®+f@—m}DDDDDD
000000000000000000000000000000 f(z)0000
or 00000002r 000000000000000000000000

00 10
1 sin(m + )t
—+cost+0032t+---+cosmt:(,—12) (2.23)
2 2sin 5t
googgo
0020 (223)00000
1 [™sin(m+ 5)t 1
—/ (,1”<n =, (2.24)
T Jo 2s8in 5t 2
1 [0 sin(m+ )t 1
—/ (, 12) dt = =, (2.25)
TJ_x 2singt 2
googgo
0030 0000000000 f(¢)ODOO
& 1 ["
D§+§]ﬁ+@§;/fﬂm%x (2.26)

goooog
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0040 (226)00000000000000000 f(z)0000
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lim f(z)sinnzxdz = lim f(z)cosnzdz =0 (2.27)

goooognd
0050 000 (227)000000000DO0O0UOO0OODO f(e)ODOOO

T 1
lim f(z)sin <m + 5) xdx =0 (2.28)
googoogd
0060 f(r) 000 27 0000000000000000 f(x) O Fourier 0O OO
HEN
:EO nz::l (ay, cos nx + by, sinnz) (2.29)
O
1 [" sm(m+ )t
- sin 5t

0000000000
000000step 1M

5 (@) — (f(x+0)+f(x—0)) _

2
0
ft+z)— f(x—0) . 1
—tdt
251n1t Sm(m+ 2)
Tft+x)— f(x+0) . 1
—)tdt
2smlt sin(m + 2)
(2.31)
oood
00000 Ostep 20 (2.28) 0000
. O ft+ax)— flx—0) 1
1 — —tdt =0 2.32
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f (t+z)— f(x+0) . 1
li —)tdt =0 2.33
mgnooﬁ 2sin L 5t sm(m+ 2) ( )
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